k]

.ﬂ,qa =( -2 | "z
Logz 27 L 3 | T

.
(1) &%= (2% =23xz-.2 <2 h2®

by = - <oy = -
y=(4)*

¢ g=21
(2) 4oo% v ys (H=ix s
] A

S

—

0 X

) 4=27
/ ‘atﬂjaﬂc

4
4
; 1 X
g g 4=fopax  G=hgaX € F=dogs A 13 M
[7] ©
— —>
° 2r, Y= Log
/1\5;%%(1;-}03‘1

) Yo (fogpF) = Flogartt3
= (dogall - bagad) =4~

(t-2)*-4x%+3

= t‘-@t +@

(t-3)—2 v

Y=9Zy Y= J,i/?%lv uzi&“@
5 [£]®

&a’(
.19924 +3

f

0

xr00e3 t 3] ,‘:ﬁé\f_&(k 93¢
E®

-Z'T = ﬂogax-,= ’&3;1 &Y
9= bogsX ¥ $=fogast 2 77712 (X ABSTAE]
Do

R
\44 4= (-2 <y Y1z 193] » 2 \
7\ / Tuht x=[8) or3 FIME|[-2| kx>
o\ 3 -

R N\ MBS E ® |Ra
V7 a3 2 4 1 ,]

a2z =2 2 B-r+w A-6ee7 2

3 3

» 2 1 v 3 2

* 3 1 At 38 2

2 1 1 v -2 1
I5%




\ ' - N - 2 2
0y —smx+k(w,x \%t)—o — Q0 mp‘a&_uswzwxzror)'&t
| . | . mret B Bk

ol st L — s s X+ R (L e X )= 0 Y i wy |,

¥ q
2l 105X ( w0s”X - sx ) -k (0s*X —swx) = D g i 2
. . i g 2
S):}L,(_;S.;W-(w_gx) 'I[ws")( swil ) = r 3 2
. = 1 2

w2 - 8 Y 4
=834 aa — % )ews2X =0 —'@ el 92 3 4 |

(“gr -*) i
3 & £ :

‘ kel 5
R = Lot 2t ws2x=0 Y - : i
4 15X,

2n
ws2X(=09 3T 21 = 2E+,,m = —-—-—-";, T (nee) £y
l+2N
9(- p) (%

X = % (n=0) ely, int?
ko 181 AR FCOHT

L®

o<9c< b6

Pr: e X< =T <s2TE | THBA B

v | 054X <(eosdn = =2om?Bx J"))

{ Y= gw2L= "5 yas L, ER tA3r DB BBcIZeT
4R
Y

-
E{ nry QRA4RTLIE
- @o 1=7 o4a | B

D< ké zrl—o ezt £ 2B e @) 2| {BlY
% o (ML 1T @ (3

R=£— ned 1T XF}- n#mmﬂﬂ R

a9y = L6
@) k~z.50t2 OFER'S) i-;smzzx Eag silr= 32

23 ‘ 2
——<2>(<TCJ:") w2 T EHS 2= &

e VZAN
S 21T DR 20t = = [imszx = - [1-5 -! 2

3
g - Itws2X  |-F )
-1 16 s X =3 iy TR

LT\,b\,'( ws2X = 2ws*X
TL [
FOe T F s LITE €Y wsJC‘Z\ ke



‘[ | 5 2
Cor U3 aaH
= __’_ 2
f (/_21_:] X +) dx
o 7 4
2 T = L x3 | at)
[+ & e te ]
(—l.!)' ) i | 3 N
S e B /'l : . L _ -L (3a/.7+3a.+')+ -é
-2 -1 o R x P 2
- . I P S 7|
e xmer "B Attt iz e
Oéaé [ ] v
| | A1
’I(a““,f ~ 76 *'1%
[ 2 3+28
=F (ar3) +7F
285 £

C iY=tarl =8 BrgaLT

(2)
R et N x=rm‘
Cot Yoottt 9= BAAALT
| =g Xtry x=1t[2]”
8t 0fas[Zehe ReDit BEESRLOL
11‘?_'{'__ / #c, lcacoard . Eot3iRgpamiia Ty
\ . {/ ; / O tBepdd e T ‘T[sﬁfgll’f'————_@j_}]
S . —
>~ : pEazs o3 R EA 7HY
‘0 i PP P Dnsb R 29k 10 a®mAE U IR

i f . T §a+l\)(_2|_xz+£,)_'((dx
1

ot |
g (%xa—j{)olﬁ(
!

"

e

= a1 -1 (arn-1

< i— ( 03+3a™+3a) -7’3-0,

&, a

S B R
5 .




7 0SasI TR
3 L1
Tes-v = [Favgari)-(F+ 1)

3 *
a a a —7—- v ifrot"
"HTETR
_@- = 4
,‘_ 2
T'= -F+ar-fa+ i
% (20%+ 20 - 1) Td3n5
2% 24— :=o E rct a=—'—’2£ £
3/ (5B P2 )
[}
T @_ﬂ’j T8 RRKE b ed
o/ano ¢ °
2 2
MERY E&% AN
-Jl—'.;’«r% -z-x’-o-%' 2
dz [ a
T T3 3
E5q - ’
FY4 =1 2
+¥ 12 [
¥ 2 2
¥ 1 2
a)
£ % 2
a at
¥ 7 ?
_i-;‘f.,.‘_'. _f_ﬂf,ﬂ 3
F = 2 6 4 4
#1;1/\ -I;\E 3




a, Qa. Q4 Qs Qs Q¢ Qy A Ay Ay Qu G Qs G Gis A A1y Gre Q19020 &y Qo

Ll 2]y o2 3|1 z23 4]0l 23 4 5|1 2
, = 2 L 3 1 4 5] 1 3 s !
2 33 4;4:3—',(51“5'/5',5, 6.6:0C.,% ,%. 7,7,7,§',7,% 3,
122 - 294 383 43 524 ¢ 784
923 ' C :
13 3 Oty 33 . 43au 33 | _éa 73
..... o2 k|t | MEILS T Rk
- / kR, Kk, ] R /1 Rt 71 56 a
(k-2)4¥ (k1) % 24 oars 1233 3
(e-2)a (k-5 b5 aysR la)2 2
' Y94 1315 4
5 |p v IA4-1'2 2
(1) ag=1 ' N E : LN =2Rs &4 2
! b |4 g *odi &b thfw)li' Q{%\ Meoar 50710 4
20,

2) torsic 2Ricsrde MesBir (e-D# o dlsotBry

Mk={l+9_+3+---+ [h-.v_)(/ + ' :r 5
_ (R-2)(k-1)  k-3k+2 | B
A 7 T

Ngrénat (k-1) 2t 2 fEa 1B ripb 5
N = 142434 -+ (k=1) = “‘2”2 J-Ekl-z‘;e
.”v'

i Neo, < 104 £ Ni Fect
ﬁ_n_’&l(_k_"_)<,o4 < “L-\)'Q £y
2 - 2
(k-2)(k=1) < 208 € (¢-Dk . HY =D

p=14ard (R-1)k = 13204=1%2
5otd (k-1)R= 1UxIE =210 THS QearIRIT =15

4=
5t Qs F05-1)FH(= 1443 =5
_ (15-2)(15-1) ELE s _ .
Mis = > 1= S5—t1=92 4
14 Bo R oB T (g, = -0 LY
wh-qas 1= BERS Qg2 148 1368 ERS5 Qoss|E ‘j;
B) Mg nsNeB2to Foil %“'%1'""\’&&—'- : -i—{ +2d b (R=DY
| =_L_,ua-|)k:k ka
51 B MR-} o413 -L.;') k%%a;fw:;—— 1hY - ,,
Q02+ + Oy :'2l_'+‘22"* *h—;'— = ?‘.—x k-—]> @ H
103 . —,3: 13 4 /
VF2|~Z:an (% 5:4%#:1 ol domS (F ey BUNT .

|03

2
Pow -3edeo vt ) ,
he . ‘ AR
- THh3

5

s ’

x5 22 st apa | 595-s% 1S2) | 507
30 T T30 30 |10



W) &-B=a C =3x9x0560° =L‘3—l_[
.e'C = 2:2\!@560‘ :—@ LY

|p]*= |o&—0P | ®
= |-ty 8 +te-st|°
= (1=t Z[+ 2] +52[z]?

+o(l-)t £-C -2tse-d -a-t)sa-d

= (1-t)54 +t% 4 +s59
+ 4 (1-t)t —6st -6 (I-1)S
= Qs*cés+ 4t*-4t +4

@8 m>+(@tm>+

%
TP A B e lsb 9l S'B*f’ . @t:zﬁ;g ,P&’_@/
’ - = = e 2 la
(2) 0A-PR= & (-2-1”-2'0-3_0,)
. LaZrra o712
¢ (2) claxzadxz-grd
€y
Q(iz+1?) i 3'3=@ M5 2APR =[90’ 743
R
A fz) 57 AAPRA BT 1T

zt: 68 @OA +Boa THY G Am@ KBS

1 (aaraomiR) = —;—(AAPM@A’E) D )

P&t Ed WX

P 3 ]
1 2 ]
B 31 2
xhH 2| 2
¥ 2 1
7Yy 13 1
a¥ |12 |
< 2 I
2 ) [
oY 90 '
9 2 2
$97k 1323 2
A 2 2
=R 23 2



) p=y, m=20¥s I¥ |
Y=2 ot X= 23+3 =@‘> < B r pl.-—q“:-]*
Y=] o¢? = 3¢-D=[2] ¢ THFIT 2C,p (1-p) =2 g.g_z%J_ﬂ
NY=0at2 X = =l+(-1) = -[Z] 7 papg 12 (I_?)a:(sif: ;

X = 3xY + (=1)x (m-Y)
= EAn+AY oM Eovikvr->
» r

o]
Bk 358 2% R pras mBo Yo K317 [np|@

|20 £FR v 1%py 0% (1-pd) = P 1ep+ 0x(-pdY

=p-p?
pCi-p) 'Hdws

Yoin$2 T [ap (1-p)] 'O

E.v ¥3dt 3 B9, 28 J2 ¢

() Mm@ $HEp Ll e3

Flc

fl

I X=-m+4qY =2u7
E(N=mp , V(Y)=mp(i-p) &Y
yo B3 E(x) 12 E(x) = E(-m+4Y) .
= -m+4E(Y) --%+4npl @

Xo i V) 1T V(X)) = V (-n+4Y) = 4*.v(Y) .
=[tmpa-pl® 4

fl

| Ty
3) P=z", n= 2000 E(Y)= mp= lﬂoox;L = [z00]

g1, REBE e T o(Y)= VOO = [mpl-p) = [f1200x4=3 .

= /'75'::3 :/52%32 :

J>7 X 2120 13 —n+4Y 220 &9 Y> 20+ r=o\s
A 300
o Y2 m;\““ £y Y2 330
|
T =7

( Y 300 330 300) P (22[2:00)) thss

i1z P(x2z1e0)= P(Y2330) =P
0, s— 0,4172 = 0,022¢ ¥ 0[023] =22

pcz22.00) =0,5-P(2=2) =



@) M= 9400 23 X =1440 &Y
X=-Mmt4Y 1c ($ALT 440 = -2400 +4Y (05

= 144042800 _ 5404600 = 960

2 4
_ e PR _ 4 :
3_77 V— n ¥ m\q - 70 = 0|4‘ t&’é
b0
2. [ rO-r) _ /—0.4‘0.6 :/ 024 . [T _ ool
" - 92400 2400 16000 L

THi%

0,4 —1.96x00l =P £ 0.4+ 1.96x0.01 &Y

0.4-0.0196 = P S 0.4+ 0.0194
2 Koy (EHEM T 0.p2pls p £ ofrad vay

Int 7 Ad-

P33 ERy ELE

R -2,2.8 :
x 9

n 4 !

* 1 !

2a+ed¥Y n+4Y )

3 0 i

v 1 !

v ° I

3 8 2

vy 200 1

] 18 |

7. b 2.00 2

0. =R% 0, 023 2

0 /nE 0. 380 2

0. 7Am 0. 420 2

08



